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Instructions for the candidates:

. U¥IErRfl OMR STv—yFd gv 397 597 YReaer #H1e (10 Sibl @) 999
ferdd |
Candidates must enter his/her Question Booklet Serial No. (10 Digits) in the

OMR Answer Sheet.
. g¥erreff gervTT 379 Isql H 8 GV @/

Candidates are required to give their answers in their own words as far as
practicable.

. gIfe ] iV E19rY U Y BV 31 Ui [ldT #vd &

Figures in the right hand margin indicate full marks.

. HET Bl FrTqds U@ @& [y qeEnierr @l 15 [Hae T AN wHy 791

TIT &/

15 minutes of extra time have been allotted for the candidates to read the
questions carefully.
. JE H97 YRasr &l @usl ¥ & — @Us—3] 3V GUs—q

This Question booklet divided into two sections, SECTION-A and SECTION-
B.
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6. @GUE—3 7 70 JVGITT FIT & [or7H & [7E] 35 ¥ HT IV & SIFqrT &/ 35 7
¥ SiE)E BT TN G UV FoIH 35 T & HodIdbT BT Fedd 97 @& [0 1 3 [FERa
8/ §9%7 GV 37 @ fory GUcTe HVF TF TY OMR SIV—UFF F RV TV el [dbey
@I et /Bl JieT U7 F TG B/ [¥] H GBIV B FTgeav,/ avel yarel,/ &S,/ TegT
37/& &7 OMR Sv—YFE H FIIT BT H77 & 3] Y& GRH SFE1 &7/

In SECTION- A, there are 70 objective type questions, out of which any 35

questions are to be answered. If more than 35 questions are answered, then
only first 35 answers will be evaluated. Each question carries 1 mark. For
answering thee darken the circle with blue/ black ball pen against the correct
option on OMR Answer sheet provided to you. Do not use Whitener
/Liquid/Blade/Nail etc. on OMR Answer Sheet, otherwise the result will be

invalid.

7. @Us— § 4 20 TYITANT T &/ FAF P [ 2 3F [FIRT &) forrd &
[&5T 10 Fo71 & G¥ I SfAar] &1 §9F SN 9 &vS ¥ 06 FF
TINT J97 RV TV & FAF @ [y 05 §F iR & o W fael 03
gl & GOv & AT &)

In SECTION- B, there are 20 Short Answer Type Questions, Each question

carrying 2 marks, out of which any 10 questions are to be answered. Apart
from these, there are 06 Long Answer Type Questions, each carrying 5 marks,

out of which any 3 questions are to be answered.

8. ¥ B P ZFeiFeii1H SYBYT BT FIIT qUTAT dfoid &/

Use of any electronic appliances is strictly prohibited.
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Yus — 31/ SECTION-A

JE][TS U / Objective Type Questions
g7 GEGT 1 @ 70 GF F T & G GV 357 89 14 & foraH & ve aE
g/ 397 grer g7 T4 wE Aoy & OMR  ¥ie gv [AfRwd #v/ [l 35 gt
P IV T/ 35x 1 =35

Questions Nos. 1 to 70 have four options, out of which only one is correct. You

have to mark your selected option on the OMR-sheet. Answer any 35 questions.

35x1=35

1. 91 forved o1 @1 AT gl 8-

(A) 4 (B) 7

(C) 14 (D) 8

The number of main crystal system is

(A) 4 (B) 7

(C) 14 (D) 8
2. FTHR WRE H fUs—afad WA & G7<9g A1 8l o—

(A) 4 (B) 6

(C) 8 (D) 9

The co-ordination number of an atom in body centred cubic geometry is

(A) 4 (B) 6

< 8 D) 9
3. THR fhved H S99 STeAd! 3 6T Bl 8-

A) 3 (B) 1

© 4 (D) 14

The number of Bravais lattices in a cubic crystal is

(A) 3 (B) 1
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() 4 (D) 14
4. ST YRATI[ATC! b Bholdh—abiad TAIBR hls Aol H AqWhcld Rhal
DT T Bl 8—
A) 8 (B) 4
) 6 (D) 12

The number of tetrahedral voids in a face centred cubic unit cell having

identical atom is

(A) 8 (B) 4
) 6 (D) 12
5. fAe=feRRad & 1 faeT fedid a9 siferbas grm?
(A) K,S0, (B) NacCl
© R (D) ToE
Which of the following has maximum depression in Freezing point?
(A) K,S0, (B) NacCl
(C) Urea (D) Glucose
6. FrfeRad § B Ao @& U IO HT ISTER0T 27°
(A) °ad (B) ggHMA
(C) F@IHId I (D) dm

Which of the following is an example of colligative properties of a

solution?
(A) Density (B) Mass
(C) Elevation in boiling point (D) Temperature

7. 3R 18g ot (CoHy,0,) T fdamad & 1000g # SuRerd g,
e @ AreTerdl &—
(A) 1 (B) 2
€) 0.1 D) 0.5

If 18g of glucose (CgH1204) is present in 1000g of a solvent, then the

molality of solution is
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A) 1 B) 2
© 0.1 (D) 0.5

8. TP HIIe SN} Bidl &

(A) 9,650 |t (B) 10,000 der

(C) 49,640 qTH (D) 96,500 detHE

One Faraday is equal to

(A) 9,650 coulomb (B) 10,000 coulomb

(C) 49,640 coulomb (D) 96,500 coulomb
9. STeii |t # U 31 K,[Fe(CN)g] @ gRT fhaw e ot & &

(A) 2 B) 5

) 11 (D) 10

The number of ions produced by 1 molecule of K,[Fe(CN )] in aqueous
solution is

(A) 2 B) 5

<©) 11 (D) 10

10. 0.1 N CH;COOH I &1 Jedidh! Alefdhed 25°¢ WX 80 Td Iricl eIl

4R 400 ohm™! cm? equivalent ! 2, AT CH;COOH &1 fasH T 3790
g

(A) 1 (B) 0.2

(C©) 0.1 (D) 0.5

If equivalent conductance of 0.1 N CH3;COOH at 25° ¢ in 80 and at
infinite dilution is 400 ohm™! cm? equivalent ~1, then its degree of

dissociation is

A 1 (B) 0.2
(© 0.1 (D) 05
11.Cu, Zn, Ag 3R Fe & HF& 3[BT favai &1 HH 28—
(A) Cu,Ag,Fe,Zn (B) Ag,Cu,Fe,Zn
(C) Fe,Ag,Cu,Zn (D) Zn,Cu,Ag,Fe

Page 5 of 24



In order of standard reduction potentials of Cu,Zn, Ag and Fe is

(A) Cu,Ag,Fe,Zn (B) Ag,Cu,Fe,Zn

(C) Fe,Ag,Cu,Zn (D) Zn,Cu,Ag,Fe
12.fr=ferfae | o fgcdiae de 87

(A) oded dd (B) e TR g0

(C) s et (D) T ¥

Which of the following is a secondary cell?

(A) Leclanche cell (B) Lead storage battery

(C) Concentration cell (D) All of these

13.A, B 3R C Tl &T A9 Uadd= favd &1 J19 Ha: +0.68V, -2.50
3R -0.50 V &, a1 S9! 3[9e=g Wi &1 HH a—
(A) A>B>C (B) A>C>B
(C) C>B>4A (D) B>C>A

The standard reduction potential values of elements A, B and C are

+0.68 V,—2.50 V and 0.50 V respectively. The order of their reducing

power is
(A) A>B>C B) A>C>B
©) C>B>A (D) B>C>A

14. fg Bife &1 aAffebar & forg sfAfhar & 9 gd IT—ReRrid &1 36b1g
HHH Bl 87
(A) 3 (B) were
(C) e (D) o
The unit of rate of reaction and rate constant is same for the reaction of

which order?

(A) Zero (B) First

(C) Second (D) Third
15.52M pife @& A & IT—ReR(® & SHE Bl 27

(A) HIet offe 71 (B) wHI!
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(C) <. Ared | (D) ¥t &l A

The unit of rate constant of a first order reaction is?

(A) mol.L? (B) time™!
(C) L.mol.s™1 (D) mol L1571
16.31f9faT A—B, & forg aifafshar & 971 &1 freuor frefoRad 5 4
fpeaeh gIRT BINTT?
(a) 4 ® -4
d[A] d[AB]
© - (D) "

For the reaction, A — B, the rate of reaction should be represented by

which of the following?

(a) 4 ® -

© -4 o =2
17.F=fRed # o9 AT SR AMHAT & T BT YAITIT BT 87

(A) T (B) &9

(C) g (D) 578 | w1

Which of the following factors affect the rate of a chemical reaction?

(A) Temperature (B) Pressure

(C) Concentration (D) All of these
18. SoI1SH & Tob—

(A) FERIEST (B) fafus

(C) W (D) ¥ 9w

Enzyme is a

(A) Carbohydrate (B) Lipid

(C) Protein (D) None of these
19.Fr=faRad 3 o4 fEsdt waTa yeiRia aRar 87

(A) faerad (B) sm@em

(ORI (D)
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Which of the following exhibit Tyndall effect?

(A) Solution (B) Precipitate

(C) Sol (D) Vapour
20.qy fAmferRad # 9 faeT S &7

(A) UrId (B) frerw=

(C) wa (D) ¥ 9wl

Milk is an example of which of the following?

(A) Emulsion (B) Suspension

(C) Sol (D) None of these
21,91 AR H T fhai ol IcAfoid Bl 67

(A) 20—40Kjmol™? (B) 40—60Kjmol™!

(C) 60 —80Kjmol™?! (D) 40— 400 Kjmol™?

What is the approximate heat energy is evolved in physical adsorption?

(A) 20—40Kjmol™?! (B) 40— 60Kjmol™?!

(C) 60—80Kjmol™? (D) 40 —400 Kjmol™!
22. BRI lIIIC',ICJ'{‘IIEQS % U 391

(A) 31fereny® (B) TaeNy®H

(O RUBINED (D) JThR®D

Phosphorus pentoxide is a good
(A) Adsorbent (B) Absorbent
(C) Bleaching agent (D) Reducing agent

23.THTISC W Gl U &R § AT YR &1 IuANT g 39 H fdear Srar
2°

(A) I (B) &igae

(C) TPRD (D) SATRITPRD
Limestone is used during the extraction of iron from haematite are as
(A) Flux (B) Slag

(C) Reducing agent (D) Oxidising agent
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24 fferRad § o arg AARe A gRr ura far Sirar 28?

(A) IfTH (B) DI

(C) o= (D) VA=A

Which of the following metals is obtained by cyanide process?

(A) Chromium (B) Copper

(C) Silver (D)  Aluminium
25 31 f=ferRad # oo arg &1 o 27

(A) Sn (B) Pb

(C) Si (D) Ag

Galena is an ore of which of the following metals?

(A) Sn (B) Pb

(C) Si (D) Ag
26.9HISS DI BT AGoT far Srar &—

(A) DI-SraT fafsr g (B) faggd faegea fafd gmo

(C) ol gRT (D) T ¥ IS e

Sulphide ores are concentrated by

(A) Froth floatation process (B) Electrolysis

(C) By Roasting (D) None of these
27.FARS I @ fSrawar # IAfHar wRe I 7 |

(A) NH,CI (B) N, + HCl

(C©) N, + NH,CI (D) N, + HCl

Chlorine reacts with excess of ammonia to form

(A) NH,CI (B) N, + HCl

(C) N,+ NH,CI (D) N, + HCl
28.f7 # & faH pr-dn de9 27

(A) NOj (B) CO03™

(C) BO3~ (D) S05™

Which of the following has pt — dm bond?
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(A) NO; (B) CO0%
(©) BO3~ (D) S03%-

29. 9 16 & AT BT Dal Sidl &

(A) Tl (B) TedhIo

(C) \GehHT e (D) I A
Elements of group 16 are called-

(A) Halogens (B) Chalcogens
(C) Transition elements (D) Noble gases

30. yord HhHT Aol § IzacH ATRITHRYT ekl UaRid - arel dcd o—
(A) Ni B) Cr
(C) Fe (D) Mn
The elements showing highest oxidation state among first transition series

1S

(A) Ni (B) Cr

(C) Fe (D) Mn
31.f=faRed # 9 fba d@ # 4f SOl wWR HAG wY A “Ral 27

(A) TrIES (B) Ufde-gsw

(C) §AT a1g (D) &R g

In which of the following elements 4f energy level is gradually filled?

(A) Lanthanides (B) Actinides

(C) Transition metal (D) Alkali metals
32.K3[Cr(C,0,)3] ® Cr & wH=g AT &

A) 3 (B) 4

<) 5 (D) o6

The Co-ordinator number of Cr in K3[Cr(C,0,)5] is

A) 3 (B) 4

(O (D) 6

33.fF=feiRad ¥ &IF srgadd 27?
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(A) Ni(CO), (B) [Ni(CN),]*

(©) [NiCL]™? (D) [CO(NH3)6]*?

Which of the following in paramagnet?

(A) Ni(CO), (B) [Ni(CN),]*

(C) [NiCl]™? (D) [CO(NH3)6]*?
34.FrfeiRad H i SifriieR® Td AqHRE QHl dI dRE FdeR DA o

(A) Hss (B) H,S0,

(©) So, (D) S0,

Which of the following acts both as oxidising as well as reducing agents?

(A) H,s (B) H,S0,

©) So, (D) S0,
35.FfetRad | &9 WA Blar 272

(A) NH; (B) NO,

(C) N,0 (D) NO

Which of the following is coloured?

(A) NH; (B) NO,

(©) N,0 (D) NO
36.frfeRad # I I SR TEA 87

(A) Cu? (B) Co?**

(C) Ni%t (D) Fe3*

Which of the following ions is colourless?

(A) Cut (B) Co?**

(C) Ni%t (D) Fe3*
37.frfaRad § s HpHT I@ T 87

(A) Fe (B) Sn

(€ Cu (D) Hg

Which of the following is not a transition element?

(A) Fe (B) Sn
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(€ Cu (D) Hg
38. 9% 18 & dcdl Bl 92T SISl D fa=aTd &

(A) ns?p® (B) ns’np®

(©) ns?np* (D) ns?np3

The outer electronic configuration of group 18 elements is

(A) ns?p® (B) ns?np®

(C) ns?np* (D) ns?np?
39.frfeRad § &9 e HH q9UEId arell I 87

(A) ETgSIe (B) Erferad

(C) -gSIoH (D) 3=

Which of following gases has lowest boiling point?

(A) Hydrogen (B) Helium

(C) Nitrogen (D) Argon
40.59 @1 fafr & g1 F=faRea & fea arg @1 eee g 22

(A) Cu (B) Al

(C) Fe (D) Zn

Which of the metals is purified by Hoope’s process?

(A) Cu (B) Al

(C) Fe (D) Zn

41.F=fRed 3 o |99 A& f[9gd oS ©7°

A) £ B) Cl
(C) Br, D) L
Which of the following is the most electronegative?
A) F, B) Cl
(C) Br, D) L
42 frfaRad # 9 foder sikaw # T8l 87

(A) XeOF, (B) NeF,
(C) XeF, (D) XeOs3

Page 12 of 24



Which of the following does not exist?

(A) XeOF, (B) NeF,
(C) XeF, (D) XeOs
43 ferafaRad & @9 gsgio-—sad 81 997d1 87
(A) NH; (B) H,0
(C) HCl (D) HF
Which of the following doesn’t form hydrogen bond?
(A) NH; (B) H,0
(C) HCl (D) HF
44 Sifeet Af® [Co(NH3)5ClCL, & STefia faeras § masl @) dwer grfi?
(A) 3 B) 4
< 2 (D) o6
The number of equation in the aqueous solution of complex
[Co(NH;3)sClICL,
(A) 3 B) 4
<€ 2 (D) 6
45 fFr=forRad | I SMISIBH URIET Tal 87
(A) C,H;OH (B) CH;0H
(C) HCHO (D) C,H,
Which of the following given iodoform test?
(A) C,HsOH (B) CH3;0H
(C) HCHO (D) C,H,

46.0fehe1 2ellss BT STelld KOH §RT Uohladd § YR 8T baeldl &—
(A) IrTeie arfafaear
(B) wfoRermu= stfafean
(C) REESRANSTIGHRYT THfhaT
(D) faca= arfaferan
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The conversion of alkyl halide into alcohol by the reaction of aqueous
KOH is called

(A) Addition reaction

(B)  Substitution reaction

(C) Dehydrohalogenation reaction

(D) Elimination reaction

47. Foedl Ffed FaREgS & IUPAC 9 ©
(A) 3-FARIGH
(B) 2-FARICH
(C) 1- TR 2- HiLrer UuA
(D) 2- AR 2- AfSA UuA
The IUPAC name of secondary Butyl chloride is
(A) 3 —chlorobutane
(B) 2 — chlorobutane
(C) 1 -—chloro 2 —methyl propane
(D) 2 —chloro 2 —methyl propane
48 fa=faRad @ &4 @1 o sa garse 27
(A) CH, =CH — CHBrCH;
(B) CH;—-C(Br)=CH,
(C) CH,=CH-CH,—-CH,—Cl
(D) CH=C—Br;
Which of the following is vinyl halide?
(A) CH, =CH — CHBrCH;
(B) CH;—-C(Br)=CH,
(C) CH,=CH-CH,—-CH,—Cl
(D) CH=C — Bry
49 f=forRed # fhadr TRt feeds & wY # 8ar &
(A) TEARIBMH (B) QmATSI®H
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(C) V¥ (D)

Which of the following is used as anaesthetic

(A) Chloroform (B) Iodoform

(C) Acetylene (D) Methane
50.C,HsOH Td CH;0CH, ®

(A) I FHEId! (B) forameier HHTaad)

(C)  sEe |FHEagd! (D) S8 & 9l

C,H;OH and CH;0CH are

(A) Position isomers (B) Functional isomers

(C)  Chain isomer (D) All of these
51.91f%d Voplaled ®f ARG | UTe EIem 2

(A) T (B) E&X

(C) wraifafere 3t (D) ¥R

Primary alcohol on oxidation given

(A) Ketone (B) Ester

(C) Carboxylic acid (D) Ether
52.T18URA $2R &1 IUPAC 9 ©

(A) felfef o (B) 3ATReT 394

(C) feifestl U= (D) &A= o=

The IUPAC name of Diethyl ether is

(A) Methoxy methane (B) Ethoxy ethane

(C) Methoxy propane (D) Ethoxy ethane
53.IUPAC YUrrell ¥ VIS &l M 2

(A)  #IAA (B) T

(C) wWu=E (D) TIHEH

The IUPAC name of acetone is

(A) Methanal (B) Ethanal
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(C) Propanone (D) Ethanone
54.®1Hf¢sgTsS Bl NaOH fderas & w1l T4 &)+ WR f=feiRad § &I

uT gl 87

(A) wIff® 31w (B) UM

(C) Afet Veeprelel

(D) #Y Vedpialal iR AfSTH Bife

Which of the following is obtained on heating formaldehyde with NaOH

solution.
(A) Formic acid (B) Acetone
(C) Methyl alcohol (D) Methyl alcohol and Sodium formate

OH

I
55.31fAfhAT CH,COCH, + HCN > CH; —C— CH,

CN
fa=forRag o fhaedT Serexor 27
(A) SolagR=TEl HfcremIA (B) g wforemy=
(C) fABEIE AT (D) Selgg el AT
OH

I
The reaction, CH;COCH; + HCN - CH; —C— CH,

I
CN

is an example of which of the following?

(A) Electrophilic substitution (B) Nucleophilic substitution
(C) Nucleophilic addition (D) Electrophilic addition
56.wratfaaferd arll @ foharefial Jold 28—
(A) —CHO 0
B) I
—C —
(C) —COOH (D) —COOR

The functional group of carboxylic acids is
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(A) —CHO 0

(B) Il
—C —
(C) —COOH (D) —COOR
57.CH;CN & STt emueed & fa=falRad § &9 wra grar 87
(A) C,Hq (B) CH;CH,COOH
(C) CH;COOH (D) HCOOH

Which of the following is obtained on hydrolysis of CH;CN ?

(A) C,H, (B) CH;CH,COOH
(C) CH;COOH (D) HCOOH

58.31H C3HoN & gR1 Fre=feriRad @ b sgad favam Simar 27
(A) T THIA (B) Woved U
(C) eRRRY v (D) TTH ¥ W

Which of the following can be represented by molecular formula C3HgN ?

(A) Primary amine (B) Secondary amine

(C) Tertiary amine (D) All of these
59,0l @1 I Afehar Fed AoRIRe vl & AT IR IR ferRad 4

DI g B2

(A) HBIE 3 (B) Achfferd orvet

(C) oI Aehid 3 (D) dGIS®

Which of the following is formed when aniline reacts with fuming

sulphuric acid?

(A) Sulphonic acid (B)  Sulphanilic acid
(C) Benzene sulphonic acid (D) Benzoic acid
60. 9157 UHIFT @1 FARIBH TAT VAol KOH & 12X 3IWAfhar dealril
gl
(A)  FIfd TAA rfHfshar (B) died ifAfshan
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(C) IR gar A SrfHfhar (D) BfwH srfafsar

The reaction in which primary amine reacts with chloroform and

ethanolic KOH is called

(A) Carbyl amine reaction (B) Kolbe’s reaction
(C) Reimer and Tiemann (D) Hoffmann reaction
reaction

61.{j§bl\r| BT STl TS HEATT &

(A) SrgIERT (B) SierareH
(C) wedaxe (D) ==
The hydrolysis of sucrose is called
(A) Saponification (B) Hydration
(C) Esterification (D) Inversion
62. 01T 3t H U WA aren fohareid g 8-
(A) —COOH wJwg (B) —NH, 978
(C) —CH;a7E (D) (A) e (B)aHI

Functional groups present in amino acids are

(A) COOH gp (B) —NH; gp

(C) —CH;¢gp (D) BothAandB
63 XA faaT HH 3 BT g

(A) faerfi= By, (B) fiefimA

(C) frefmcC (D) fIeIff=E

Night blindness is due to the deficiency of
(A) Vitamin By, (B) Vitamin A

(C) VitaminC (D) VitaminE
64.fF=forRag & diF AUROGAT INR gRT 81 991 ST ?
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(A) UorTEH (B) faerfa=
(C) wreH (D) EHH

Which of the following is commonly not produced by our body?

(A) Enzyme (B) Vitamin

(C) Protein (D) Harmone
65.fr=ifeiRad § & @9 gga v =El 87

(A) SITTY (B) ¥

(©) difeee (D) s=gfer

Which of the following is not a macromolecule?

(A) DNA (B) Starch
(C) Palmitate (D) Insulin
66.98l JiTEfe Heefd IR &—
(A)  HforeT RR (B) &A—N-IR
(C) SR (D) $TH 9 BIg &I

The first industrially synthesis rubber is

(A) Methyl rubber (B) Buna-N-rubber

(C) Buna-Sy-rubber (D) None of these
673t FreferRad 3 3 s agard 27

(A) CCIHARI Ui T (B) UfhdMESSSd @

(C) TAAIEH 3 BT (D) SN T

Orlon is a polymer of which of the following?

(A) Tetrafluoro ethene (B) Acrylonitrile

(C) Ethanoic acid (D) Benzene
68.3TRTAY ¥ A& TRIF 99 ©

(A) TR (B) emsfia
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(C) Wz (D) g

Purine base which is present in RNA

(A) Guanine (B) Thymine
(C) Cytosine (D) Uracil
69. gfderan el | frfaRad # dF—1 |8 %9 2°
(A)  TH-HRBHT—IDHT (B) HIWhc— WH —IHT
(C) IO — TH —HiThe (D) T —IHT —BIBT

Which of the following is the correct order in nucleic acid?

(A) Base-phosphate-sugar (B) Phosphate-base-sugar

(C) Sugar-base-phosphate (D) Base-sugar-phosphate
70.f=fRIT § A HIH—T BragIsSSe aAUMlT BIRABT BT JATAITS TTh

g?

(A) ¥ (B) eyt

(C) g (D) faerfi

Which of the following carbohydrates is an essential component of plant

capillary?

(A) Starch (B) Cellulose

(C)  Sucrose (D) Vitamin

@ug — &/ SECTION -B

oY S<RII U= /Short Answer Type Question

g7 GE&IT 1 # 20 &7 FANT 8/ 578 10 FF7 & TV & | Hd® P 77 2

s [T &1 2x10 =20
Question Nos 1 to 20 are short Answer Type. Answer any 10 questions. Each
question carries 2 marks: 2x10=20

1. TIora= &7 HIeRdr Ud Hioladl § Ifdr WK BN |

2

Page 20 of 24



Differentiate between molarity and molality.

2. AleR ATeAdhcd & IRATRT N R IHD! TS ford | 2
Define molar conductance and write its unit.

3. grsfrae Wi F/m &? 2
What is Brownian movement?

4, FRATYA Ud 9oiF H SfaR 9and | 2

Differentiate between calcination and roasting.

5. HHHU UV TS ISRRSD Bl 0T YGRId HRell © | ARAT PN | 2

Transition metals exhibit good catalyst property. Explain .

6. f=feRaa SIfea diffraT &1 IUPAC AW ford | 2
(A) [Cr(H0)6]Cly
(B)  K[Ag(CN),]
Write [UPAC names of following complex compound.
(1) [Cr(H;0)6]Cl3
(i)  K[Ag(CN),]
7. Uhige AT &1 GATddd BT © Sid(dh BRI "ol | ARAT PN | 2

Graphite is good conductor of electric current where as diamond in not.
Explain.

8. fUre Hfad T9HR SHE T a1 &7 2
What is body centred cubic unit cell?

9. Wl AT @ BIAT 87 SHBI &I SUINT 87 2
What is Fehling solution? What is its use?

10.fer=ifeiRae & [UPAC <4 ford | 1+1=2

OH

|
(A) CH; — CH — COOH

0
(B) CHys — CH, — C — 0 — CH,
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Write IUPAC names of the following

OIH
(A) CH; — CH — COOH

0

11.fF=feRad % g% BT Teh IaTERT < | 1+1=2
(A) flhgei—mrae Ufehetiaxor
(B) flhrsa—@de URIeiIdHRor
Give one example of each
(A) Fridel-craft alkylation
(B) Friedel-craft acylation

12.998T8f$® Vemislal & aiffaxror fbg bR foar STrr 2 | 2

How are monohydric alcohols classified?

13.9bolige IR Gferd fewoft for | 2
Write a short note on Bakelite.
14. 3798151 T 872 SSTeN < | 2

What are detergents? Give example.

15.fTa=\M @Y e AT | 87 2
What is Liebermann’s nitroso reaction?

16.3Maegd AT AAaeIH VAT 3Fel T © 2 2
What are essential and non-essential amino acids?

17.839 M DIfe oI Affhar Fa7 287 e < | 2
What is pseudo first order reaction? Give an example.

18.UBAlha BReb o1 &7 IATBRT | 2

What are Surfactants? Give example.
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19.H,0,H,S,H,Se IR H,Te I 3% qaoid & dad HH H Ao |

Arrange H,0, H,S, H,Se and H,Te in the increasing order of their
boiling points.

20.3 T T 57 I Sfa< ARV & b avf | I@r 17 77 2
What are Noble gases? In which group of periodic table, they have been
placed?

<" TR U9 /Long Answer Type Questions
737 G 21 F 26 e FTINT 8/ 75 3 FFN & GO &/ AT & [T 5

3 [FERT &/ 3x5=15
Question Nos. 21 to 26 are long Answer Type. Answer any 3 Questions. Each
Question carries 5 marks. 3x5=15
21.
(A) <fad &1 e T 8? 2

What is Raoult’s law?

(B) a9 T@ & IMUfEH a9+ A o<l faerld & onfvas sawe @
iR & forg e ara N | 3
Obtain an expression for the determination of molecular mass of a

solute from relative lowering of Vapour pressure.

22.
(A) AMTHAT BT AVl T THAfHAT BT Bife H R Idr | 2
Differentiate between order Isof reaction and molecularity of a
reaction.
(B) <IfthfeTd Td aarbifdsd Ala | fawg o | 3
Differentiate between Lyophilic and Lyophobic sols.
23.9foTST 3D W USPHIEH & frpdor ) fafyy &1 e # fod| 5
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Write in brief the process of extraction of Al from Bauxite ore.
24 3AEH & J& WId o7 57 T gl O F HY U [HI1 SIar g 5

What are the main sources of lodine? How is it extracted from sea

weeds?
25 fforRad R wfera feuft fore: 2><2%=5

Write short notes on the following:

(A) RISTYS 3dHRUI
Rosenmund reduction

(B) dfes ififsar
Perkin’s reaction

26.f=feRad uRa<ia 9 by i 87 2x2-=5

How are following conversions brought about?
(A) THifeel™ & marermH

Acetylene to lodoform
(B) wiifed st & TfieH

Acetic acid to Acetone

Page 24 of 24





